T™M 9-4910-617-14&P

DEPARTMENT OF THE ARMY TECHNICAL MANUAL

OPERATOR’S, ORGANIZATIONAL DIRECT SUPPORT, AND GENERAL
SUPPORT MAINTENANCE MANUAL (INCLUDING REPAIR PARTS LIST)

FOR
TABLE, WORK, MODEL 7225
(NSN 4910-00-205-3046)
(RUST MANUFACTURING, INC.)

Headquarters, Department of the Army, Washington, DC
18 November 1981

REPORTING OF ERRORS
You can help improve this manual by recommending improvements using DA Form 2028
(Recommended Changes to Publications and Blank Forms) or DA Form 2028-2 located in
the back of this manual and mail the form direct to Commander, US Army Armament
Materiel Readiness Command, ATTN: DRSAR-MAS, Rock Island, IL 61299. A reply will be
furnished direct to you.

NOTE

This manual is published for the purpose of identifying an authorized commercial manual for the
use of the personnel to whom this work table is issued.

Manufactured by: Rust Manufacturing, Inc.
1541 Paramount
Azusa, CA 91702

Procured under contract No.: DAAA09-76-C-6811

Page
SECTION BT INTRODUCTION . . . ..ot et (L]
[Z] REPAIR PARTS LIST . ..ottt ettt e 3]

This technical manual is an authentication of the manufacturers’ commercial literature
and does not conform with the format and content specified in AR 310-3, Military Publi-
cations. This technical manual does, however, contain available information that is
essential to the operation and maintenance of the equipment.




INSTRUCTIONS FOR REQUISITIONING PARTS
NOT IDENTIFIED BY NSN

When requisitioning parts not identified by National Stock Number, it is mandatory that the following
information be furnished the supply officer.

1 -

2 -

Manufacturer's Federal Supply Code Number. 6L455
Manufacturer's Part Number exactly as listed herein.

Nomenclature exactly as listed herein, including dimensions, if necessary.
Manufacturer’s Model Number. Model 7225

Manufacturer’'s Serial Number (End Item).

Any other information such as Type, Frame Number, and Electrical Characteristics, if applicable.

If DD Form 1348 is used, fill in all blocks except 4, 5,6, and Remarks field in accordance with AR
725-50.

Complete Form as Follows:

(@) In blocks 4,5,6, list manufacturer's Federal Supply Code Number - 6L455 followed by a colon
and manufacturer’'s Part Number for the repair part.

(b) Complete Remarks field as follows:
Noun: (nomenclature of repair part)
For: NSN: 4910-00-205-3046
Manufacturer: Rust Mfg., Inc.
1541 Paramount
Model: 7225 Azusa, CA 91702
Serial: (of end item)

Any other pertinent information such as Frame Number, Type, Dimensions, etc.



SECTION 1
INTRODUCTION

Work Table - Model 7225

1-1. Description

This work table is equipped with 23 sliding drawers, each having 3 dividers. Each drawer and divider is
embossed to receive an identification tab. There are also two hinged doors on the bottom shelf and two
locking bars that secure all the drawers and bottom doors. The top is laminated particleboard bolted to a

metal frame. (Eig._1)

1-2. Operation
Use for general maintenance work.

1-3. Trouble Shooting
There should not be any problems with the 7225 work table other than to tighten nuts and bolts.

1-4. Repair
Check parts list,_page B, for replacements.



7225~ 15

F i) . 7225-3 o} 5
7226- & - J225- 2, o o <7225~
" 225~ 12 R o -7225-10
T (R R
3225- 4+ =t == [ A I
- 12251 T 225 6 e el e -
(o] (9] o (o] ()
0 o ML — 72255 UT\LTy Table
O
o \-7225 -25-A
° o 4-7225-25-B
3-7255-25-0 Yorawers
(o]
- \ ° 48-7225-30- 4
\ 12 - 722§ -30-S
7225 -1 9-7225-30 6 Dwiders

Figure 1.

Breakdown of work table, model 7225.



SECTION 2

REPAI R PARTS LI ST-- MODEL 7225 WORK TABLE

PARTS NO.

# 1-7225-1
4-7225-2
1-7225-3
1-7225-4
1-7225-5
1-7225-6
1-7225-7
1-7225-8
1-7225-9
1-7225-10
2-7225-11
2-7225-12
1-7225-13
1-7225-14
1-7225-15
6-7225-16

# 16-7225-25-A

4-7225-25-B
3-7225-25-D

# 48-7225-30-4

12-7225-30-5
9-7225-30-6

# 50-7225-50-1

50-7225-50-2
50-7225-50-3
12-7225-50-4
12-7225-50-5
12-7225-50-6
6- 7225-50-7
6- 7225-50-8
6- 7225-50-5
6- 7225-50-10
2-7225-50-11
2-7225-50-12
2-7225-50-13
2-7225-50-14

3/ (4 BLANK)

| TEM

TOP

SHELF, LARGE
SHELF, SMNALL

LEFT LEG ASSEMBLY
RI GHT LEG ASSEMBLY
CENTER LEG ASSEMBLY
END PANEL, LARGE
END PANEL, SMALL
REAR PANEL, LARGE
REAR PANEL, SMALL
DOOR W HI NGE

LOCKI NG BAR

RI GHT END SLI DE
LEFT END SLI DE

SI DE CENTER

MOUNTI NG PLATE

DRAVER 2 5/8 X 5 5/8 X 17 9/16
DRAVER 2 5/8 X 11 1/4 X 17 9/16
DRAVER 4 1/2 X 11 1/4 X 17 9/16

DIVIDER 2 3/8 X5 3/8
DIVIDER 2 3/8 X 11
DIVIDER 4 1/4 X 11

3/8-16 X 1/2 ROUND HEAD BOLT
3/ 8 LOCKWASHER

3/8-16 NUT

5/16-18 X 2 1/ 2 FLAT HEAD SCREW
5/ 16 LOCKWASHER

5/16-18 NUT

5/16-18 X 3 SQUARE HEAD BOLT

5/ 16 LOCKWASHER

5/ 16 FLATWASHER

5/16-18 NUT

1/2-13 X 2 3/4 SQUARE HEAD BOLT
1/ 2 LOCKWASHER

1/ 2 FLATWASHER

1/2-13 NUT






By Order of the Secretary of the Army

E. C. MEYER
General, United States Army
Officia: Chief of Staff
ROBERT M. JOYCE
Brigadier General, United States Army
The Adjutant General

¥ U.S. GOVERNMENT PRINTING OFFICE: 1994 - 300-421/82405






RECOMMENDED CHANGES TO EQUIPMENT TECHNICAL PUBLICATIONS
I 7 .\l gﬂmrﬁﬁﬂ‘]ﬂm@ Wﬂﬂm@ WITH THIS PUBLICATION? I

\J/\/UVULT U W
| ( ) ) FROM: (PRINT YOUR UNIT'S COMPLETE ADDRESS) 1
THEN. . JOT DOWN THE )
DOPE ABOUT IT ON THIS .
FORM, CAREFULLY TEAR IT Your mailing address
OUT, FOLD iIT AND DROP IT
IN THE MAIL' J DATE SENT
|( \N%\ Date you f111 out Y’hlS form ]
PUBLICATION NUMBER PUBLICATION DATE PUBLICAIION TITLE I
T F-XXXX -XXX-XX Date of TM Title of TM
BE EXACT. . PIN-POINT WHERE IT IS} | T14i8 SPACE TELL WHAT IS WRONG
- PAGE PARA- FIGURE TABLE AND WHAT SHOULD BE DONE ABOUT IT:
NO: GRAPH NO. NO
I (r)mt Ne. «I’m—— éor,&ul—? ’éc"" I
I ML O/l)hd- N gg,ﬁ-{' A/b. I
l lvw’vva-' L i AL g "” L . |
I . @A\ @ |
| A MY = |
PRINTED NAME. GRADE OR TITLE. AND TELEPHONE NUMBER I SIGN HERE: 1
JOY EDGE, SP-4, AUTOVON 951/XXXX
NA .m0o™ 20128-2 ARE oosaLera ONS P.S.-IF YOUR OUTFIT WANTS TO KNOW ABOUT YOUR
BT dUL TT mwmw = hafdntisind RECOMMENDATION MAKE A CARBON COPY OF THIS

AND GIVE IT TO YOUR HEADQUARTERS.



FiLL IN YOUR
UNIT'S ADDRESS

OFFICIAL BUSINESS

REVERSE OF DA FORM 2028-2

FOLD BACK

DEPARTMENT OF THE ARMY

Commander

US Army Armament Materiel Readiness Command
ATTN: DRSAR-MAS

Rock Island, IL 61299

e e S S T T T T T T T T T T T T T 3w 21vN0443d SN0 WYL



e — G—— C—— A G I ) SO WS S— e ct—  a— amms - TRAR AONG PEBIORATVED LINE onemm i

RECOMMENDED CHANGES TO EQUIPMENT TECHNICAL PUBLICATICNS

A TR S

SOMETEING WHOWNE wim mhis pusLicaTION?

FROM: (PRINT YOUR UNIT'S CCMPLETE AOCRESS)

{’T'HEN.

DOPE ABOUT IT ON THIS

FORM. CAREFULLY TEAR [T
OUT. FOLD IT AND DROP IT
IN THE MAIL OATESENT

JOT DOWN THE

-4910-617-14&P

PUBLICATION OATE PUBLICATIONTITLE Maintenance Manual
for TABLE, WORK, MODEL 7225

88 EXACT. PINSOINT WHERE IT 1S

IN THIS SPACE TELL WHAT IS WRONG

PAGE
NQ.

PARA-
GRAS

nguat
L]

TASLE
L -}

ANO ‘WHAT SHOULD 8EZ OONE ABQUT IT:

DA.

FORM
uL 79

2028-2

PRINTED MAME. QRAQE OR TITLE ANO TELEPHCNE MUMSER

PREVIOUS EDITIONS
AAE OBSOLETE. AECOMMENDATICN MAKE A CARBON CCPY OF TS

SIGN HERE

P S.~if YOUR CUTFIT WANTS TO XNCW AB0UT YCUR

AND GIVE IT TQ YCUR HEAQOQUARTERS.



FiLL IN YOUR
UNIT'S ADDRESS

< 1

______ N

DEPARTMENT OF THE ARMY

REVERSE OF DA FORM 2028-2

FOLD BACK

Commander

US Army Armament Materiel Readiness Command

ATTN: DRSAR-MAS
Rock Island, IL

e T T T T T T T T T T T T T T T T T T e @3ivesinad SOV WAL

61299

P T P et I



RECOMMENDED CHANGES TO EQUIPMENT TECHNICAL PUBLICATIONS
e e e

|

|
' GO M@ WREMR
| SOMETHING WREME we mus rusicanow
l FROM: (PRINT YOUR UNIT"S CCMPLETE AOORESS)
| / THEN. . JOT DOWN THE
DOPE ABOUT IT ON THIS
FORM. CAREFULLY TEAR IT
OUT. FOLD IT AND DROP IT
l " IN THE MAIL CATESENT
l \ w7\
PUSLICATION NUMSER PUBLICATION DATE PUBLICATIONTITLE  Maintenance Manual
L ™ 9-4910-617-146P for TABLE, WORK, MODEL 7225
A8 £XACT PINPOINT WHERE IT IS 1 i i SPACE TELL WHAT i3 WRONG
I saas sama. | PGUAE | Tasu AND WHAT SHQULD B8E OCONE ABOQUT IT:
I NO. GRASM -] L
l
|
3
3 I :
{
-
b1
| |
| 1
|
| i
i I
I !
[
[]
I m NAME. GRAQE CA NTLE ANQ TELEPHONE NUMEER SIGN MERE:
I . roRM PREVIOUS EDITIONS - - \
i DA .St 2028-2 . AA€ GasOLETE. | AECOMMENOATION MAKE A CARBON COPY OF T8

AND GIVE IT TO YCUR HEACQUARTERS.



FILL IN YOUR
UNIT’'S ADDRESS

- ————— _—Y e ——— e e —————— . — ——— e - ————-—

DEPARTMENT OF THE ARMY

OFFICIAL BUSINESS

REVERSE OF DA FOAM 2028-2

FOLD BACK

Commander

US Army Armament Materiel Readiness Command
ATTN: DRSAR-MAS

Rock Island, IL 61299

- — AP AT D  GAD GE  —— D  G—e GRS  —— — — G — —

e e e e e e e T T T T T T T T T T 0 @31VH0S¥A4 SN0V WV3L



s T S — S p— AB—— SEED — Ay S S———  S—— i G e TEAR ABONG PERIOBATED LINE . svvemin e

/'<\

RECOMMENDED CHANGES TO EQUIPMENT TECHNICAL PUBLICATICNS

[/ e R SOMETEING

S S VSR,
WEOMR wimi mis pusticaTion?

B T™ 9-4910-617-1

4&P

FROM: (PRINT YOUR UNIT'S COMPLETE AOORESS)
[THEN. joT DOWN THE = )
| DOPE ABQUT IT ON THIS
FORM. CAREFULLY TEAR [T
OQUT. FOLD IT AND DROP IT
IN THE MAIL CATESENT
™ X —— ———
PUBLICATION NUMSER PUBLICATION OATE PUBLICATION TITLE Mjintenance Manual

for TABLE, WORK, MODEL 7225

88 EXACT. PINSOINT WHERE iT IS

2808 PAAA. nauAt
]

aasm Fel YV ™
- . N

A 00N T

IN THIS SPACE TELL WHAT IS WRONG
TasLL ANO WHAT SHQULD BE DCONE ABOUT IT:

™A rOAM ANAQ A
LA o9 LULD 4L

PRINTED NAME. GRAOE OR TITLE. ANO TELEPMONE NUMGER

PREVIOUS EDITIONS
» AAE QBSOLETE,

SIGN MERE:

N N ———

2§ —~if YOUR QUTEIT WaANTS TO XNCW 280! |f youLa

RECOMMENOAT!CN MAKE A CARBCN CCPY

RNy

ﬂ
0
[T

ANO GIVE IT TQO YOUR HEAOQUAARTERS.



REVERSE OF DA FORAM 2029-2

FILL IN YOUR
UNIT’S ADDRESS

;/ FOLD BACK
—— o —— — —— — —— - ——— T ——— . — - — — — — —— G —— T ———— — A — — S — - - v @wtn =

DEPARTMENT OF THE ARMY

INT GILYUOINIL BNOTY UYL

OFFICIAL BUSINESS

Commander

US Army Armament Materiel Readiness Gommand
ATTN: DRSAR-MAS

Rock Island, IL 61299

(

I
|
l
I
I
|
|
|
!
I
I
I
!
I
|
|
|
|
|
I
PIN : 049892 - 000 :



This fine document...

Was brought to you by me:

Liberated Manuals -- free army and government manuals

Why do I do it? I am tired of sleazy CD-ROM sellers, who take publicly
available information, slap “watermarks” and other junk on it, and sell it.
Those masters of search engine manipulation make sure that their sites that
sell free information, come up first in search engines. They did not create it...
They did not even scan it... Why should they get your money? Why are not
letting you give those free manuals to your friends?

I am setting this document FREE. This document was made by the US
Government and is NOT protected by Copyright. Feel free to share,
republish, sell and so on.

I am not asking you for donations, fees or handouts. If you can, please
provide a link to liberatedmanuals.com, so that free manuals come up first in
search engines:

<A HREF=http://www.liberatedmanuals.com/>Free Military and Government Manuals</A>

— Sincerely
Igor Chudov

http://igor.chudov.com/

— Chicago Machinery Movers



http://www.liberatedmanuals.com/
https://www.machinerymoverschicago.com/
http://igor.chudov.com/
http://www.liberatedmanuals.com/

